Class 9 maths - chapter 1

Number System : Some identities of Square Roots (concept and Mcq’s)
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. On adding 2/3 and 32, we get
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. On dividing 627 by 2./3, we get
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(d) none of these



(-5+24/5-/5)is

Jaf an irrational number (b) a positive rational number
(c) anegative rational number (d) aninteger
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(Vi2+10-42) s

(a) a positive rational number (b) equalto zero
@/ an irrational number (d) anegative integer
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(-7+4J7-3J7)is
(a) a positive rational number &7 an irrational number
(c) anegative rational number (d) equal to zero
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The number (3_/3)(3+4/3)is
(a) anirrational number «BY a rational number

(c) not a natural number (d) none of these
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On simplifying (5 + ﬁ)z we get
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